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QUESTION 1

What are two Cloud Pod Architecture feature limitations? (Choose two.) 

A. Kiosk mode clients are not supported unless a workaround has been implemented. 

B. Cloud Pod Architecture does not support Active Directory two-way trusts between domains. 

C. Cloud Pod Architecture cannot span multiple sites and data centers simultaneously. 

D. Cloud Pod Architecture is not supported with Unified Access Gateway appliances. 

E. The Cloud Pod Architecture feature is not supported in an IPv6 environment. 

Correct Answer: AE 

Reference: https://docs.vmware.com/en/VMware-Horizon/2106/horizon-cloud-pod-architecture/GUID-
B10A78D0-B0EB-4E94-9F6C-3A6BF79AA88D.html 

 

QUESTION 2

Refer to the exhibit. 

An administrator schedules the push of a new image to desktop pool and receives the exhibit. Where should the
administrator first look for the cause of the issue? 

A. Golden Image Active Directory Computer Account 

B. Account used to login to the Horizon Console 

C. Instant-clone Engine Domain Account 

D. vCenter Server Administrator Account 
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Correct Answer: C 

https://communities.vmware.com/t5/Horizon-Desktops-and-Apps/Horizon-View-8-2103-computer-account-trouble/td-
p/2842002 

 

QUESTION 3

Which Horizon feature provides high availability desktops across datacenters? 

A. Cloud Pod Architecture 

B. vCenter Linked Mode 

C. Instant-Clones 

D. Replica Connection Servers 

Correct Answer: A 

Reference: https://techzone.vmware.com/resource/horizon-architecture 

 

QUESTION 4

A company will be deploying hundreds of desktops for temporary workers. The workers be heavy Microsoft 365 users
and require access to local USB, camera, and printers. The company is challenged with no spare capacity to support
the deployment in their datacenter. 

Which VMware solution can the company use to easily deploy the desktops, while keeping the base cost lower than
other possible solutions? 

A. Horizon on Google Cloud VMware Engine 

B. VMware Horizon on Azure 

C. VMware Horizon On-premises 

D. VMware Horizon on AWS 

Correct Answer: B 

 

QUESTION 5

An administrator has been tasked by their organization with determining the type of Horizon deployment to use. 

These requirements have been provided to the administrator: 

Implement quickly the deployment of Windows and Linux desktops. 

Provide hybrid cloud support. 

Provide centralized brokering. 
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Ensure the environment is secure from end-to-end. 

Which deployment solution meets the requirements? 

A. vSphere Desktop Edition 

B. Workspace ONE Unified Endpoint Management 

C. Horizon On-Premises 

D. Horizon Cloud on Azure 

Correct Answer: C 

The best choice given these options is to setup a CPA on-prem so you have highly available instance. You could also
deploy VMware Horizon on Azure which is different than a VMware Horizon Cloud instance. Guest support for Horizon 

Cloud: 

https://kb.vmware.com/s/article/78170 You would also be able to deploy Horizon in the Azure cloud in a IaaS model and
achieve this goal. 

https://docs.microsoft.com/en-us/azure/azure-vmware/azure-vmware-solution-horizon 
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